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012131 44 565 78 9:;< =8>?;@8>A
78 9B@><?C DA;E
X = 5, 12, 18, 24
p = b, 14, a, 11
M(X) = 16.3729 F µ3(X) = −84.6679

012131 44 5G 5 7<?C 99A H ><;8 IDJ ><DA;E
X = 6, 13, 19, 20
p = a, b, 33, 7
M(X) = 15.7681 F µ3(X) = −90.6840

012131 44 54 5 =8 >@DA =8>?;J ;C
K;L>M8DA;E
X = 8, 14, 18, 21
p = 7, a, b, 5
M(X) = 15.6667 F µ3(X) = −34.0741

012131 44 5N 5 O8 >PBDA Q ;B;R>
=8>?;J ;C DA;E
X = 5, 12, 18, 21
p = b, 17, a, 5
M(X) = 15.1552 F µ3(X) = −88.4239

012131 44 5S 5 OC ;<9A;E T8UV
W D<@R><R;<DA;E
X = 5, 12, 16, 24
p = a, b, 25, 11
M(X) = 16.2745 F µ3(X) = 23.3286

012131 44 5X 5 YC:DA Q ;B;R> Z9C [99A;E
X = 9, 13, 16, 22
p = 14, a, b, 5
M(X) = 13.9831 F µ3(X) = 17.2307

012131 44 5\5 ]^P> 7<>@R>@;V _8 9[DA<>
X = 5, 10, 16, 22
p = 5, a, b, 5
M(X) = 13.8627 F µ3(X) = −26.0790

012131 44 5` 5 TCL> W ;C ;88 = >?;J DA;E
X = 8, 11, 18, 21
p = b, 12, a, 9
M(X) = 15.3750 F µ3(X) = −45.4102

012131 44 5a 5 W b<?;b@ Y [DC Y A[9<U9A;E
X = 6, 13, 17, 21
p = a, b, 28, 4
M(X) = 14.7288 F µ3(X) = −47.1924

012131 44 56c 5 dbe 9<BD f 9RC
=;BRDC DA;E
X = 9, 11, 19, 23
p = 13, a, b, 9
M(X) = 15.6364 F µ3(X) = −11.1375

012131 44 5665 K >PbC T8UV =;BRDC DA;E
X = 6, 12, 16, 21
p = a, b, 22, 5
M(X) = 14.5000 F µ3(X) = −14.0217

012131 44 56G 5 Q 9E>9A> f D8;<> T [DC 9A<>
X = 9, 11, 17, 22
p = a, b, 23, 8
M(X) = 14.4737 F µ3(X) = 17.2375
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012131 44 564 5 _�bLDA Z9J 9< H 9<;@DA;E
X = 7, 12, 16, 23
p = a, b, 26, 13
M(X) = 15.9825 F µ3(X) = 12.4450

012131 44 56N 5 f8 9L><DA 7CR9J
H J ;RC ;9A;E
X = 7, 11, 18, 23
p = b, 17, a, 13
M(X) = 16.2131 F µ3(X) = −34.5283

012131 44 56S 5 Z98;A><DA 78 9B@><?C
K;L>M8DA;E
X = 6, 13, 16, 24
p = 7, a, b, 10
M(X) = 15.2807 F µ3(X) = 14.7423

012131 44 56X 5 ZRb�>B 78 9B@><?C>
78 9B@99A<>
X = 6, 12, 16, 22
p = 3, a, b, 8
M(X) = 15.2766 F µ3(X) = −8.7680

012131 44 56\5 ZbLDA 78 9B@><?C
78 9B@><?C DA;E
X = 9, 11, 17, 21
p = 10, a, b, 7
M(X) = 14.6129 F µ3(X) = −4.9110

012131 44 56` 5 �9C 9LDA> K >C [>C ;R>
789B@><?C DA<>
X = 7, 12, 17, 23
p = 8, a, b, 10
M(X) = 15.4211 F µ3(X) = −15.5460

012131 44 56a 5 �9C <><?b K >C @98;<b
� b8;b
X = 9, 13, 16, 21
p = a, b, 26, 8
M(X) = 14.3231 F µ3(X) = 5.4298

012131 44 5Gc 5 � ;J 9<9@ K 9<?;9R> � b8;D
Z�@>C
X = 6, 13, 17, 22
p = 8, a, b, 9
M(X) = 15.0156 F µ3(X) = −43.2009

012131 44 5G65 � >�DA>8DA 7<?C 9M
Y A[9<U9A;E
X = 6, 14, 18, 20
p = b, 23, a, 6
M(X) = 15.7313 F µ3(X) = −71.7661

012131 44 5GG 5 � >�DA>8DA> K >C ;V
Y A[9<U9A<>
X = 6, 11, 17, 24
p = 3, a, b, 15
M(X) = 17.0000 F µ3(X) = −24.0000

012131 44 5G4 5
X = 8, 12, 18, 23
p = a, b, 30, 13
M(X) = 15.8169 F µ3(X) = −26.9466

012131 44 5GN 5
X = 8, 11, 18, 23
p = a, b, 27, 9
M(X) = 15.9636 F µ3(X) = −36.7684

012131 44 5GS 5
X = 8, 11, 17, 21
p = a, b, 23, 8
M(X) = 14.5273 F µ3(X) = −7.4496

012131 44 5GX 5
X = 5, 14, 17, 21
p = 6, a, b, 4
M(X) = 15.0702 F µ3(X) = −89.5930

012131 44 5G\5
X = 8, 14, 17, 20
p = 13, a, b, 6
M(X) = 14.4839 F µ3(X) = −34.7807

012131 44 5G` 5
X = 8, 11, 15, 23
p = a, b, 24, 12
M(X) = 14.6610 F µ3(X) = 65.4090


